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Effects on the sensor readout

The level of noise is increased
n Localized effect
= Cannot be isolated by masking, et al

» Effects inversely proportional to distance
from surface of sensor

Hybrid #12 is a good example
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Tests to Run

Change distance of cable from sensor

= Increase distance
Noise problem should lessen

= Decrease distance
Noise problem should increase

Change Pipeline value on Init_SVX4_Master
= Value different from Ca/ pipe should mask problem

Switch from Ca/ inject mode to Data mode
= Effect should be masked



Cable held to sensor with foam
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Cable held to sensor with foam
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Cable held away from sensor
with foam pad of 0.375 in. width
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Pipeline value of 7 with Ca/ pipe
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Pipeline value of 9 with Ca/ pipe
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Data Mode

160

140

120

100

80

ADC counts

B0

40

20

0

20

40

Master Chain A, Chip # 8

B0 80 100

Channel Number

120

1

=

1l

+ mean
= sigmax 10
+ Donoisex 10




